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Amerian Math 2412 Final Exam Review

Name

" MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

The function f is one-to-one. Find its inverse.

1) f(x)=5x2-8,x20 1)

A) f—l(x)=&°+8 B) f~1(x) = xiB
x+8 x+8
C) f-1(x) = [——= D) f~1(x) =~ -

=4

Determine i) the domain of the function, ii) the range of the function, iii) the domain of the inverse, and iv) the range of

the inverse.
2) K{x) = -\/1 - 5x 2)

A) fixx: D= {x | s%}, Ris all real numbers;

}

5

uif—=

f~1(x): D is all real numbers, R = {yl y=
1
By f(x): D={x| xso R={y|y=0}
f=1(x): D is all real numbers, R = {y| y<
1D =%l s RETy |y 20N
C) f(x).D-{x| X 5}, R={y|y=z0}

fix3:D={x| x20} R= y|ys%

D) f(x):D={XIXZO},R={y| YZO},'
1(x): D = {x| xao},a={y| y%}

\._Y_I

Decide whether or not the functions are inverses of each other.

g dx+3
3) £ =, 80 == 3
A) Yes
B) Yes; Exclude the value (-4}
C) No
Find the length s. Round the answer to three decimal places.
4) 4)
s
40°
2cm
A) 1117 em B) 1.536 cm C) 1.396cm D) 1.256 ¢cm



Solve the problem.

5) A ship in the Atlantic Ocean measures its position to be 20°14' north latitude. Another ship is 5
reported to be due north of the first ship at 41°29" north latitude. Approximately how far apart are

the two ships? Round to the nearest mile. Assume that the radius of the Earth is 3960 miles.

A) 84,165 mi

Find the area A. Round the answer to three decimal places.

6)

il A

B) 84,150 mi

Jcm
A) 0.785 cm2

Solve the problem.

7) An irrigation sprinkler in a field of lettuce sprays water over a distance of 30 feet as it rotates
through an angle of 150°. What area of the field receives water? If necessary, round the answer to

two decimal places.

A) 375 t2 B) 39.27 fi2

8) An object is traveling around a circle with a radius of 20 meters. If in 10 seconds a central angle of

B) 2.356 cm2

C) 1484 mi

C) 1.5 cm?

C) 1178.1 12

—;- radian is swept out, what is the linear speed of the object?

A) % m/sec B) —;— m/sec

Q) %— m/sec

5)
D) 1469 mi
6)
D) 4712 cm2
7)
D) 2356.19 ft2
8)

D) _rli- m/sec

In the problem, t is a real number and P = (x, y) is the point on the unit circle that corresponds to t. Find the exact value of

the indicated trigonometric function of t.

AJ65 4 .
9) (—9—, 9 Find sect.
4*\/5 \,%
—_— B
A) 63 ) 4

g6 4
10} (——"9—,-9) Find cot t.

) S

6
4 B)9

w

Find the exact value. Do not use a calculator.

11) ese (- %)

A)1 B) 0

9
0=

65
O -3
C) -1

9}
10)
11)

D) undefined



3.

Use a calculator to find the approximate value of the expression rounded to two decimal places.

ks
12) cot - 12)
A)373 B) 3.65 ) 21893 D) 218.85
A point on the terminal side of an angle 8 is given, Find the exact value of the indicated trigonometric function of 6.
11 .
13) (- g‘, 3) Find cos €. 13)
29 29 54/29 2429
U o) -5 T D) -5~
Solve the problem,
14) What is the range of the sine function? 14)

A) all real numbers

B) all real numbers greater than or equal to 1 or less than or equal to -1
C) all real numbers greater than or equal to 0

D) all real numbers from -1 to 1, inclusive

Use the fact that the trigonometric functions are periodic to find the exact value of the expression. Do not use a calculator.

i5) tan 7 15)
4
A)1 B) -1 Q) % D)3
Use the even-odd properties to find the exact value of the expression. Do not use a calculator.
. i
16) sin| - ry 16)
A2 A2 3 e
Sy %3 S s
Find an equation for the graph,
17) 17) _
3
-— ﬁu 7 PR S .\ - I- PR . . . 6].r
-3
A) y=-3cos (3x) Byy=3 cos[%-x] Q) y =-3sin (3x) D)yy=-3 cos[%x]



Write the equation of a sine function that has the given characteristics.
18) Amplitude: 4
Period: 37

A)y = sin (3x) + 4 B) y = 4 sin (3%) C)y=45in[%] D)y=35in[-li]

Find the phase shift of the function.
19) y = -2 sin [Zx - —';—]

A) 27 units down B) 27t units up

Q) -Ll units to the right D) % units to the left

Solve the problem.

20) For the equation y = - %— sin{4x + 3n), identify (i) the amplitude, (ii) the phase shift, and (iii) the

period.

A) @) - -12- (i) - i_} (iii) 4 B) (i) 2 (ii) 3n (i) 5
ot @-I G D) () > Gy -3% (i

Find the exact value of the expression.

21) cos-1 [—- -'JES-]

T T 5n 2n
A) 5 B) 3 <) 2 D) 3
Use a calculator to find the value of the expression rounded to two decimal places.
22) tan~1 (-2.1)
A)-1.13 B) -25.46 C) -0.44 D) -64.54
Find the exact value of the expression. Do notuse a calculator.
23) tan-1 [tan[i,;il\
57 27 2n 57t
A= B3 9-3 D=7
24) sin-1 [sin [i,l]]
5
A) 2 B) A Q) 3 D)=
4n 5 T 5

18)

19)

20y

21)

22)

23)

24)



Find the exact solution of the equation.

25) 4 cos-1(5%) =
542
"]

1
Find the exact value of the expression.

26) t;.m[ca:.is'1 --;—]]

a - B) -3

27) csc‘l[z‘;ﬁ]
T s
AT B)- 5

C)A3 D) -1
27 T

Use a calculator to find the value of the expression in radian measure rounded to two decimal places.

-11-2
28) cot n

A) -0.90 B) -38.66
Solve the equation on the interval 0 <8 < 2n.

29) 542 5in 6 + 4 = -1
5t 7w
B) {T' T}

n 7n
A) {T' —4—}

Use a calculator to solve the equation on the interval 0 = 8 < 2n. Round the answer to two decimal places.

30)4cotO=-3

A) 221,407 B)2.21,5.36

Solve the equation on the interval 0 <8 < 2.
31)25in20-3s5in0-2=0

4 5n 7 57 7n
A {‘3" T} g {? 6 _6_}

32)cos2 B -5in2B=1+sinB
T 57
A) O,E'. 5T

77 1=
© {0 “'?’T}

33) {csc O - 2)(cot B+ 1) =0
3n 7 57 lim
A T'T’T'T}

t 3 5m 771}

Q5 =%, 8

6" 4" 6" 4

(54

C)-51.34 D) -0.67

47t 57 77 11n
© {“3—' ?} 2 {? T}

C)2.50,6.93 D) 2.50, 5.64
77 11n 7 71 1=
C) {Tr } D) {?JT!—
T 77 37 1=
R PR e }
47 5¢w
o R 3}
B) In n

23)

26)

27)

28)

29)

30)

31)

32)

33)



Simplify the expression.

cos B
_— 4
34)]-v-sinv‘:i"tsme 34)

A)cos 6 +sin 0 B) sinZ 0 a1 D) sec ©

SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Establish the identity.
_.1-sec® tan 6 _ -
P Gne T-secd 2escd 3)
csc O +cot O
36) rBesn® csc O cot O 36)
37) tan(@ - A7) =tan © 37)

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Find the exact value of the expression.

38) sin 165° 38}
A) Mfﬁ B) 23 - 1) Q) -A2(f3 + 1) D) i—z—‘i}—i‘l
39) co{tan'1 %— - sin-1 %] 39)
2f3 206 2
A5 B)1 O=5 P55

Solve the equation on the interval 0 < 0<2m.

40) cos @ =sin © 40}

3' 7!‘ 5!’ 3 5! f7l
el efpx) ofp®) ok

Use the information given about the angle 8, 0 = 9 < 2, to find the exact value of the indicated trigonometric function.

41)cos B = -33- 37" <B<2n Find sin{28). 41)
24 7 7 24
A-33 B -2 ©)53 D35
) tan@=ae, Bt Find tan(26). 42)
74 2 _—
336 527 527 336
A =537 B} - 336 33 D) 537




Solve the equation on the interval 0 0 < 2%,
43) sin(20) +sin =0
n 3n 57 7n

03¢

43)

44)

A} L B) No solution
i _ 4n 1 9
Q) Jo, 3 Tt.T } D) {—8-, T}
Use the information given about the angle 8, 0 5 0 = 27, to find the exact value of the indicated trigonometric function.
44) 5in O =%, tan@>0 Find cosg.
10 f8+ 2015 Af8 - 215
A} —=— B) —— CQ——7F—
4 4 4
i . .. 0
45)tanB =2, cosO<0 Find sin —,

2
5- ‘\f:-l- 54+ ‘\lg 1+ \/3
A) \} 10 & \‘ 10 = '\‘ 10
Use the Half-angie Formulas to find the exact value of the trigonometric function.

16) co{— %]

A)—;-‘\fl 2 B)%-\/Z-:ZZ C)%-\Il 2

47) 5in 22.5°

A) -2 B) -2+ 2 022

Express the product as a sum containing anly sines or cosines.

48) sin(46) cos(20)
A) %[cos(é@) - cos{20)] B) —;—[sin(ﬁﬂ) +cos(28)]
Q) %-[sin(ée) + sin(20)] D) sin cos(862)

Express the sum or difference as a product of sines and/or cosines.
49) cos(68) + cos(408)
A) 2 cos(50) B) 2 cos(30) sin 8 C) 2 cos(56) cos 8

Find the exact value under the given conditions,

any s 15 n 5 T . .
:O)sma=~ﬁ, ?m\ﬂ:n; cosﬁ:E, Oc:|3c:? Find sin (et - B).
21 171 220

A -2r ®) 21 %1

o 53E

D) %«/2 AN

D)W

D) 2 sin(30) sin

140

D -37

45)

46)

47)

48)

19)

50)



15 =@ @

= 12 on PR - 1 . -
51)cosa=~-73, 5 <A< sinp = 17 2 <a<mn Find tan(a + B). 31)
220 220 20 220
A3 =171 U D) -7

Find the value of the indicated trigonometric function of the angle 8 in the figure. Give an exact answer with a rational
denominator.

52) 52)
¥ 6
5
Find csc ©.
A) -g- B) _Tll—l ) %—1- D) -:6’-

Solve the right triangle using the information given. Round answers to two decimal places, if necessary.

A
c
b
B
a
53)b=5,B=20% Finda, c,and A. 53)
A)a=13.74 B) a = 13.74 C)a=1374 D)a=1374
c=15.62 c=14.62 c=15.62 c=14.62
A=80° A=70° A=70° A = 80°
Solve the problem.
54) A radio transmission tosver is 220 feet tall. How long should a guy wire be if it is to be attached 8 54)

feet from the top and is to make an angle of 26° with the ground? Give your answer to the nearest

tenth of a foot.
A) 23591t B) 483.6 ft C) 244.8 ft D) 5019

Solve the triangle.
55) 33)

A)C=20°,a=477,c=1143 B) C=15° a =477, c=11.43
C)C=25°a=1143,c=477 D)C=20° a=1143,c=4.77



Two sides and an angle are given. Determine whether the given information results in one triangle, two es, or no
triangle at all. Solve any triangle(s) that results.

56)a=7b=9 B=4% 56)
A) one triangle B) one triangle
A=76.01°C=54.99° c=7.60 A =35.94% C=95.06°c=11.88
C) two triangles D) no triangle

A1 =76.01%C1 =5499° c1 =760 or
Az =103.99°, C3 = 27.01, c3 = 12.14

57Ya=17,b=12,B=10° 57)
A) two triangles B) one triangle
A1 =14.24° C1 =155.76" c] = 2837 or A =16576° C=4.24° c=5.11
A2 =165.76°, Cp2 =424% c2 =511
C) one triangle D) no triangle

A=1424,C=15576" ¢ = 28.37

Solve the problem.
58) An airplane is sighted at the same time by two ground observers who are 3 miles apart and both 58)
directly west of the airplane. They report the angles of elevation as 13° and 20°. Flow high is the
airplane?
A) 1.89 mi B) 1.03 mi C) 2.88 mi D) 0.67 mi

Solve the triangle,

59)b=5,c=7,A="70° 59)
A)a=808B=41.6°C=684° B)a =7.08,B=41.6° C=684"
C)a=7.08B=684°C=416° D)a=6.08B=684°C=416°

60) 60)
C
9
6
B A
4
A)A=321°8=1272°C=207° B) A=127.2°B=321°C=207°
C)A=127.2°,B=20.7°,C=32.1° D)A=321%B=207°C=127.2°
Solve the problem.

61) Two points A and B are on opposite sides of a building. A surveyor selects a third point Cto placea  61)
transit. Point C is 48 feet from point A and 70 feet from point B. The angie ACB is 51°. How far
apart are points A and B?

A)71.3 ft B) 106.9 ft C) 96.5 ft D) 54.5 ft



Match the point in polar coordinates with either A, B, C, or D on the graph.

4in
62) [—3, -3—]

j\
5 -
4--
B a3t A
. )
2--
l--
ettt —t—t
5§ -4 -3 -2 I 1203
cC 27T D
® ™
L3
e
M5
N
A)A B)B

The polar coordinates of a point are given. Find the rectangular coordinates of the point.

~ 37

63) [—3, T" _
o[22 58]

64) (-~f3, -1)

T
A) [2, = ?]

65) x2 + y2 - dx =0
A) rcos? @ =4sin©
Cyr=4sin0

Identify and graph the polar equation.

66)r=1+ sin®
l"\

5--

52 542
2 2

B) [.__

The rectangular coordinates of a point are given. Find polar coordinates for the point.

57t
B) [z, ?]

OcC

ot

T
(:)[2.151

Byr=4cos®
D) rsin2 8 =4 cos @

10

DyD

D) [°—22-

D)[z,- o

The letters x and y represent rectangular coordinates. Write the equation using polar coordinates (r, 8).

62)

63)

64)

65)

66)



A)

=ttt 7

™

fON.

L
it
~ 0 L] L T L

cardioid
Q)

cardioid

B)

cardioid
D)

cardioid

Write the complex number in polar form. Express the argument in degrees, rounded to the nearest tenth, if necessary.

67) 2 + 2i
A) 24J2(cos 45° + i sin 45°)
C) 242(cos 30° + i sin 30°)

. z T .
Find zw or—-as specified. Leave your answer in polar form.

68)z=2+2i

w=«]§-i

Find zw.

23w, 7
A)-A[cost--nsm 12]

23 . . 23w
C)«/i[cos - +13in 12]

11

67)

B) 4(cos 30° + i sin 30°)
D) 4(cos 457 + i sin 45%)

68)

o, . T

B) J[cos e +isin —12]
T, . T
D) kﬁ[cosfﬁnsm-ﬁ]



69)z=1-i 69)

W=1-«\]§i ‘

Find —.
w
A) %{cos 73% +1sin 75°) B) lé-g(ccls 15° + i sin 15°)
1 co o4z 1 S,
C) -2-(c05 15% +1i5in 15°) D) E(cos 75% + i sin 75%)

Write the expression in the standard form a + bi.

3In ., . 3a4
70)[\12[COST+|sm 4B 70)

A) -4i B) -4 C)4 D} 4i
71) (-3 + )b 71)
A) -64~f3 + 64i B) 64 - 64af3i C) -64 D) 64i

Find ail the complex roots. Leave your answers in polar form with the argument in degrees.
72) The complex fourth roots of -16 72)
A) 2(cos 45° + i sin 45°), 2(cos 135° + i sin 135%), 2(cos 225° + i sin 2257), 16(cos 315° + i sin 3157)
B) 16{cos 45° + i sin 45°), 16{cos 1357 + i sin 135°), 16(cos 225 + i sin 225%), 16(cos 315° + i sin 315%)

C) 2(cos 90° + i sin 90°), 2(cos 180° + i sin 180°), 2(cos 270° + i sin 270°), 2(cos 360° + i sin 360%)

4 4 4 4
D) ~f2(cos 45° + i sin 45°), ~f2(cos 135 + i sin 135%), ~f2(cos 225° + i 5in 225°), Af2(c0s 315° + i sin
3159

Find the unit vector having the same direction as v.
73} v=12i+ 5§
13. 13, 5. 12, T — _12. 5.
A}lu= 2t 5] Bju= i i C) u=156i1+ 65§ Diu= AR

73)

Write the vector v in the form ai + bj, given its magnitude |+ and the angle « it makes with the positive x-axis.
74) v =11, a=60°

74)
13, 11, (A2 A2,
Ayv=11 2 l+2] B)v=11 21+ 2)]
11, 1143, 11, 1143,
Cv=11 i+ D)v—ll—T:-—-E-—]]
Find the angle between v and w. Round your answer to one decimal place, if necessary.
75 v=-5i+7), w=-6i-4j 75)
A) 90.9° B) 110.8° C)20.7° D) 88.2°
Solve the problem.
76) Which of the following vectors is parallel to v = -10i - 8j? 76)

A) w=di+4j B) w = 20i + 16§ C) w = -20i + 25 D) w = 3i- 5j

12



77) Which of the following vectors is orthogonal to 20i - 8j?
A) w = -10i - 25§ B) w=4i+3j C)w=15i- 6j

Solve the problem. Round your answer to the nearest tenth.

D) w = 20i + 4j

78) Find the work done by a force of 9 pounds acting in the direction of 36° to the horizontal in moving

an object 5 feet from (0, 0) to (5. 0).
A) 72.8 ft-lb B) 26.5 ft-1b C) 386 ft-1b

Find the position vector for the vector having initial point P and terminal point Q.

79) P = (1,-1,0) and Q = (-4, -3, 4)

A) v=3i-2j-4k B) v = 5i + 2j - 4k C)v=-3i-2j+4k

Perform the indicated operation.
80) v = 3i+ 5] - 6k and w=-5i+2j+ 3k
Find ||} -]
A)5A2-6 B) Af154 C) ~f70 - 38

Find the angle between v and w. Round to one decimal place, if necessary.
8)v=i+jandw=i+j-k
A) 35.3° B) 0° C) 66°

Use the given vectors to find the indicated expression.
82) v=3i-4j-5k, w=5i+5j+4k
Find v = {(2w).
A) -7i-49j+ 50k B) -18i - 6j - 70k C) 18i - 74j + 70k

Find the requested vector.
83)v=2i-2j+k u=2i-4j-3k
Find a vector orthogonal to both v and u.
A)3i+2j-2k B) 19i + 14j - 6k C) 10i + 8j - 4k

Find the area of the parallelogram.
84) P1(0,0,0), P2 (4, 2,1), P3(-3,3. 1)

A)~19 B) Af339 C)~21

13

D) 36.4 ft-lb

D) v = -4i - 2j - 5k

D) 3411

D) 90°

D) 34i - 62j + 35k

D)-3i-2j+2k

D) +/374

78)

79)

80)

81)

82)

83)

84)



Match the equation to the graph.
85)(y - 12 =-7(x+ 1) 85)
A)

Solve the problem.
B6) A reflecting telescope contains a mirror shaped like a paraboloid of revolution. If the mirror is 22 86)
inches across at its opening and is 4 feet deep, where will the light be concentrated?
A) 7.6in. from the vertex B) 0.6 in. from the vertex
C) 0.7 in. from the vertex D} 0.4 in. from the vertex

Find the vertex, focus, and directrix of the parabola. Graph the equation.
87) x2 - 12x = 12y - 96 87)

14



A) vertex: (6, 5)
focus: (9, 5)
directrix: x = 3

C) vertex: (6, 3)
focus: {6, 2)
directrix: y = 8

=

i1
™ 7

wn
”

1 i
LIS L]

1ol 1t
 JE B

&

Find an equation for the ellipse described.
88) Focus at (-3, 0); vertices at (=4, 0)

2 2 42
A)E_Fw%:l B)EJ?—=1

B) vertex: (6, 5)
focus: (3, 5}
directrix: x =9

D) vertex: (6, 5)
focus: (6, 8)
directrix: y =2

.é{
TFEE 7
-~

R 4

10 3 C 5 0 x
ST
10f
J
2 2 2 2
il il i il
Q) 5 + T 1 D) 5 + =

88)



Write an equation for the graph.

89) C C 89)
Ty

;™

-n2 2
A)(mc 2) +(y+1) -

(x+12  (y-27 _
9 6 ! B s !
(x-22 (y+1)2 _ (x+2)2  (y-12 _
Q) T 1 D) ety = 1
Find an equation for the hyperbola described.
90) Vertices at (0, £10); asymptotesaty = = %x 90)
2 2 2 2 2 X2 2 2
¥ _x2 g Y22 y2_x2_ ¥ _x2
A) 100 9 ! ) 36 100 < 9 25 ! D) 100 36 !
Write an equation for the hyperbola.
91) 91)
54
3
2 2 2 x2 2 2 2
x ¥ Yo _oxe X2 ¥ X2
M9 =1 B 516! % 1! P9 =!

16



Find the asymptotes of the hyperbola.
92) y2-x2 =16

A)y=xandy =-x

1 1
C)y=-1zx andy=-ﬁx

Find an equation for the hyperbola described.

Bjy=dx and y = - 4x

D}y:%xandy=-%x

93) Vertices (—;-, -3)and (- %, -3). asymptotesy +3 == %{x +2)

-2 (y-32 .

A5 9
(Y +3)2 Hx+2)2
© 9 T

Identify the equation without completing the square.
94) 4x2+3y2 + 7x - 3y = 0

A) hyperbola B) ellipse

4x+22 (y+3)2 _

B) 25 9 1
(x+2)2 4y+3)2
P13 5 !
C} parabola D) not a conic

Determine the appropriate rotation formulas to use so that the new equation contains no xy-term.

95) x2 + 2xy + y2 - 8x + By = 0

1., A3, A3 1
A)x—zx-—z—-yandy_ 7 X+ 3y

2 A2

2, T LN
B)x_T(x-y)andy_ > (x'+y)

y'andy=

C)x=~12;«!ix._ N2 -2

2
D)x=-y'andy=x'

AN2-A2 , A2+4f2
2 X + 2 y

Roatate the axes so that the new equation contains no xy-term. Discuss the new equation.

96)x2+2xy+y2-8x+8y=0
A) 8=36.9°
L:- + -%2 =1
ellipse
center (0, 0)
major axis is x'-axis
vertices at (=2, 0)
C) 8=45°
x2 = -4af2y’
parabola
vertex at (0, 0)

focus at (0, -+/2)

B) 6 =36.9°
x'z 2
—+ =1

4 4

ellipse

center (0, 0)

major axis is x'-axis

vertices at (2, 0)
D)o =45°

y‘2 = ~daf2x'

parabola

vertex at (0, 0)

focus at (—»\ﬁ, 0)

92)

93)

94)

95)

96)



Identify the equation without applying a rotation of axes.

97) 3x2 + 12xy + 2y2 - 3x -2y + 5=0 97)
A) parabola B) hyperbola C) ellipse D} not a conic

98) x2 + 12xy + 36y2 - 4x + 3y - 10=0 98)
A) ellipse B) hyperbola C) parabola D) not a conic

18



Answer Key 7
Testname: FINAL REVIEW

1)C
2)C
3»C
43 C
5D
6)B
7yC
B)B
9D
10) A
11)C
12) A
13)D
14) D
15) A
16) A
17D
i8)C
19 C
20D
21 C
22) A
23)C
24D
25 C
26) B
2N A
28)D
29)B
3B
3ncC
a2 c
anc
D
35) 1-secH . tan@ _ (1-sec 8)2 + tan28 _1-2sec B + sec26 + tanZ0 = 2 sec2@ - 2sec® - 2sec O(sec®-1) __
tan @ 1-secB tan 8(1 - sec 8) tan O(1 - sec 8) tan 8(1 - sec 8) tan 6(1 - sec 0)
2sec 0 2 cos® 2

== . =- =2 0
tan cos® sinH 5in 8 ese

1 +cosE} 1+cosB

36)csc0+cot9 _sin@  sin® sin 6 ~1l+cos® cos 6 1 cos®
tan @ +sin@ sinb &g T sinB+sinBcos®  sin®  sinB(l+ cos®) sin® sin®

sin
05 8 cos 0

=cscBcot O

tan 6 - tan tan6 -0

37)tan (8 - m) = l+tanBtant 1+tan@.0

=tan 0
A
D
40) B
i1 A
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Answer Key

Testname: FINAL REVIEW O
o

42)D
43)C
44)B
43) B
46)D
47)D
48)C
19)C
50) B
51) A
52) A
53) B
54)B
55) D
56) B
57) A
58) A
59) B
60) B
61) D
62) A
63) C
64) D
63) B
66) D
67) A
68) D
69) B
70) B
71) C
72) A
73) D
74) C
75) D
76) B
77) A
78) D
79) C
80) C
81) A
82) C
83)C
84) D
85) A
86) B
87) D
88) B
9) C

D
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Answer Key
Testnarme: FINAL REVIEW

92) A
93) B
94) B
95) B
96) C
97) B
98) C
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